Low Linear aPproximation (o¢ lineritation) of & fonckion $%) ar roint (R,
flay) & INx,\ AR AR " A (A MI

Lixy) € Ahe lineditation of £ () At 0% )
0,00¢ ON: MANION (S pod

When () e Ho (ro,y0) K ( ( : ]Ewawm Of tansent
' = 7% AR ¥ '( ane 40 ph of

" L= Rlry) OF g )
ioﬁ F('Ml1ﬂ\

B play) = ke

?“l\\: \'C. =\

W tind fne towad lineor opmosmarion §y P nea (1))

D) Use dhe oomotimakion Found 10 eimate withuw Covculator %Uol.""‘“\

OFind the \ineritavion ond the equation of tne fungent Plane to fhe Grapy of = $lra) OF (L1

fe et )= l-efl"‘»( o < U )
s el wy )

A i N M O
o= -1

Locat tinear omiokmatiy = o e* Y a1t 300 =1 y-1)

b) ﬂ\.ox.o.q«)a I+ 3(loz-1) -1l0.Gg-1) = (+0.0b + 0.0l R 1.07

O LU = 430 -1y-1) ; Vongent piane 2= 1t 3x1) = 1 (y-)

(Tova) diftesentiol OF & tunkion 2= tly) i8 dzc 3% det f% dy

fn)- fUg ) = Az ~ de
r

v
OLrual tnenge  Chunve 102 Guee
N ‘oY A differenvial

Ex: Nowme OF o Wae Vi = "i et -h

0) USe ditferenbial fo esvimare Yhe Uhange I \glume oF @ (0fe When Yhe fadivs i§ W\Gease fiom = (0 4o r=(0.1 and

gt s detseased Siom e 10 40 b= 4.7
b) use dilfe rentigls do estimate te peictarage. Chunge in Vowme if adias WNUeaRs by 27 and height

dewearey oy St



0 & aqr O ¥ 3w Oh d\lt Lorch drt Smct 4y
%’%mh %’ %;THL =00 hetg  Ac=di = 0 Ah=@h=-03
ON(o o= Sm 00 L0 + g7 pt(-0) = T-25-5
A\’Rd\\‘-
b Percensaye Chonge 0% o Quuntiy Q= 2
Yecenvage Unonge OF NOOme  N= 5 ”
dr' é{‘— =0.0L= 1)
9’:’ = A\e\_ -0.05 = - . L(L,\ ! g"’,‘\ => 2-0.0L - 0.09 :’
_A,\l_x Q\T = Ji th- o\r’( snctdh %y;ydr . ;\g;qpkdh
A Lo A
Unin Pule. 154
Mot bowic swnariv Soc Pley,2)
7= Cly) ? Dexdy= ¢“ v 0y

"
bot 1=l ond y=YW

2= HOW yw) =

M Geniol Coset OF Chain hole

W= k)

bor e w0y ylud, 22200

AU £ (oY, yluw) , 2o

1-
Ond =€ YoCog+4

W _dw gy L du 4 02 = 0
FYVER T S T} *%T'JIC*%'&U W\P 2= LY

_SY gk LNy du
=M vqﬁ <k

J'\J

°‘\

gz__&zw\x dz | oy
O ~Ix JY 0!+

4}
axy () X% -Sin ()



L] a u
% > Wy e,+ - Xl (s Lﬂ) = 2c+ os (¢) C{' -€ Sn+)

= 2¢° osto) -¢° Sintg) =2

BC Supore 2 1 implicitely  defined s & funckion 08 (x4} by tie Betodion F (K,y,2) =C

tind o formvla §or gr; (M\d% !

B Fd 5 oand %ﬁ If LIS Wmplicivel Given by X2 Ay Sinl2) = lo

be dhae wikh \mRNG t Aiberentadion

Toke % OF botw Sides of + (1)

—g\r kfz -yt Siny) - ‘3—,\ (o)

LRLY x‘%ﬁ‘lﬁ + 05 2) di =0

%f; L&+ L()SL‘:.\\s My - Lky

Jd2
X

TN - K2

N Fhy)=C = Gigey W\ 2= 2(Ry)
P o) =0 Wy
Toke 47 OF borh sides of (%)
= ﬁ: \F Ly, 1) = 0

R TONN): IF 40 =y IF L Je )
d¥ éx+,v;"§;‘\'éz 3% =0 > W' -0 7> :F)TL‘
\,‘ b ol 3c Ix
0 N J2
\'U.\\,?)'-‘kll/ﬁ\_ FSin) /
_j{- . Wxiky v 0 aPy 4
£ _ 2 R L A e P O T
7 T M5y R SN 7O M worerret




